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AP Microeconomics

Unit 7: Factor Markets
*Question order is not consistent across assessments.

Lesson 2: Derived Factor Demand
Quiz
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Lesson 3: Practice: Apply Concepts of Factor Demand Part 1
Sample Work – Teacher Graded
Lesson 4: Special Topics in Factor Demand
Quiz
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Lesson 5: Practice: Apply Concepts of Factor Demand Part 2
Sample Work – Teacher Graded

Lesson 6: Wrap-Up
Test
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Lesson 7: Factor Markets Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

Aprofit-maximizing firm continues to add resources unti:

(O A marginal revenue equals marginal cost
(O B. total product equals total cost.
(O €. marginal cost equals marginal product
(O D. total revenue equals total cost.

+/ (® E. marginal revenue product equals marginal cost.
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+/ Question 2 1 point

Ifinput X and input Y are substitute resources in the production of a good, an increase in
the price of input ¥ wil

(O A increase the supply of input X

(O B. decrease the demand for input X.

() €. increase the demand for input Y.
/(@ D. increase the demand for input X

(O E. decrease the supply of input X.
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+/ Question 3 1 point

The extra revenue a firm receives from using one additional unit of an input is called:

/(@ A marginal revenue.
(O B. marginal factor cost.
(O c. marginal product of an input.
(O D. total revenue.

(O E. marginal physical product of the input
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+/ Question 4

1 point

the table below, how many workers will the firm hire if the wag
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+/ Question 5 1 point

Ina perfectly competitive market, a firm will continue to increase its use of factor inputs.
untilit reaches what point?

(O A Where the marginal revenue product is greater than the marginal resource
cost

(O B. Where the total revenue is greater than the total cost

/(8 C. Where the price of the input equals the marginal revenue product of the
input

(O D. Where the total cost is no longer greater than the total revenue

() E. Where the least-cost combination of factors is equal to or just below the.
maximum-profit combination of factors
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+/ Question 6 1 point

Afirmis demand curve for an input is the:

() A totalmarginal-cost curve.

B. resource demand schedule.

C. marginal cost curve.

D. downward-sloping part of the marginalrevenue-product curve.

E. market demand curve.

O ® OO0
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+/ Question 7 1 point

If the demand for a product produced by an input increases, there will be:

(O A adecrease n the demand for the input.
/(@ B. anincrease in the demand for the input.

(O C. adecrease in the demand for the input and an increase in the supply of the
input.

() D. adecrease in the supply of the input.

(O E anincrease in the supply of the input.
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+/ Question 8 1 point

The owner of a fast-food outlet will continue to hire counter help if the:

() A. additional labor's pay is close to the minimum wage.

() B. average total cost of labor continues to decrease.

(O C. marginal product is at a maximum.

() D. counter help s better educated than the other applicants

/(8 E. the additional work of the new employee adds more to total revenue than to
costs,
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+/ Question 9 1 point ~

Marginal physical product (marginal product) is:

() A. the change in total resource cost divided by the change in resource quantity.
+/ (® B. the change in output when another input is added.

(O C the change in revenue when another input is added.

(O D. the change in cost when another input is added

() E. the change in total revenue divided by the change in resource quantity.
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+/ Question 10 1 point

The demand for a factor of production is:

OO0 O00O®

derived from the demand for a product.
always inelastic.

not dependent on the productivity of the resource in helping to create a
good,

not dependent on the market value or price of the good produced.

unrelated to the demand of the product.
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+/ Question 1 1 point ~

Which of the following is a profitable investment?

/(@ A Tomis astreet musician who plays the spoons for donations from passers-
by. He borrows $1,000 for a year at 8% interest to buy a saxophone. After
buying his saxophone, his total revenue increases by $1,100.

‘Tom s a street musician who plays the spoons for donations from passers-
by. He borrows $2,000 for a year at 8% interest to buy a saxophone. After
buying his saxophone, his total revenue increases by $1,100.

C. One in which the rate of return from a loan is less than the interest rate of
the loan.

D. One in which the additional revenue gained as a result of the loan is more
than the amount borrowed.

() E. Onein which total revenue increases after the money is borrowed.
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+/ Question 2 1 point

‘The market for capital is closely associated with:

() A the stock market.

/(@) B. the market for loanable funds.
(O C. the market for interest.
(O D. the NASDAQ.

() E. None of the above
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+/ Question 3 1 point

Which of the following is most likely to eam lots of economic rent?

v @® A oil
O B Air

() €. Natural resources, or land

(O D. Minimum wage labor

(O E Roses
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+/ Question 4 1 point

In a bilateral monopoly, the resulting wage level is higher due to;

() A. the higher skills of the workers.
(O B. the higher cost of the firm.

/(@ C. the bargaining power of the union.
(O . the bargaining power of the firm.

() E. None of the above
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+/ Question 5 1 point ~

Anormal rate of retun for capital is:

the opportunity cost of the investment,i's equivalent to the interest rate for
2 government bond with no risk of default.

the rate of return that all capital investment receives, since all capital
investment receives the same rate of return in all uses.

there's no such thing as a normal rate of return for capital—the rate of return
is different in different situations,

10%

equivalent to a positive economic profit
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+/ Question 6 1 point

Dennis is a professional basketball player, and eams one million dollars a year. Before
becoming a basketball player, he had a job at an airport and eared $30,000 a year. How
much economic rent does Dennis receive as a basketball player?

() A. Theres not enough information to answer the question.
v @ B. $970000

O c. $30,000

O . $1,000000

O E $1,030,000
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+/ Question 7 1 point

Which of the following is not a reason interest rates vary?

(O A Taxtreatment of the loan
() B. Therisk of the loan
() C. The period the loan is in effect
/(@) D. These are all reasons interest rates vary

(O E Costof administering the loan
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+/ Question 8 1 point

Which of the following is a reason a person might choose a low-paying job over a high-
paying job?

() A. The low-paying job may offer better benefits

(O B. The low-paying job may be closer to home, offering a shorter commute.
(O C. Thelow-paying job may be more fun.

() D. The high-paying job may offer fewer chances for job advancement

/(@) E. Allofthe above
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+/ Question 9 1 point

Economic rent is eamed when:

any payment is made in exchange for land.
the sunk cost associated with land is greater than the opportunity cost

2 payment for a factor of production leads to a normal profit for the factor
owner

a singer who makes $200/hour singing blues music, while her second-best
career option would pay $8.25/hour.

2 person makes a payment in order to live in an apartment or take
possession of some other ‘rental” building.
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+/ Question 10 1 point

The labor supply curve in a perfectly competitive labor market:

() A reflects the diminishing marginal returns of labor.
(O B. is downward sloping.
/(@ C. is upward sloping.

(O . isflat

(O E isconstant
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+/ Question 1 3 points

The demand for lemon candies is fairly elastic, since there are many substitutes for
lemon candies; therefore:

(O A the elasticity of demand for lemon candies is close to zero.
/(8 B. the derived demand for lemons is likely to be elastic.

() C. the derived demand for lemons is likely to be unit elastic.

(O . the elasticity of demand for lemon candies is close to one.

() E. the derived demand for lemons is likely to be inelastic.




image22.png
+/ Question 2 3 points ~

Why are trees considered a more renewable resource than oil?

() A Oilis scarce; there are lots of trees.
(O B. Its easier to harvest trees than it is to drill and refine oil
() C. Trees are aresource; oil is not.

/(8 D. Ittakes longer for oil to be created than for a tree to grow.

() E. Neither oil nor trees are a renewable resource; like all land resources, they're
nonrenewable.
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+/ Question 3 3 points

Which of the following is ot part of the cost of borrowing money?

() A Marketability of the loan
(O B. Costof administering the loan
(O . Lengthof the loan

/@ D. Inflation

(O E Riskof default
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+/ Question 4 3 points

Amonopsonistic labor market is one in which:

() A. more workers are hired than in a perfectly competitive labor market

() B. the wage rate is above the rate in a perfectly competitive labor market.
/(@ c. thereis only one buyer of labor.

(O . there s only one seller and only one buyer of labor.

() E thereis only one seller of labor.
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+/ Question 5 3 points

Which of the following demonstrates the relationship between the nominal and real
interest rate?

(O A Nominal plus inflation equals real

/(@ B. Nominal minus inflation equals real
() €. Nominal times inflation equals real
() D. Nominal equals real

(O E None of these.
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+/ Question 6 3 points

‘Alabor union introduced in a monopsonistic labor market always causes:

(O A higher eamings.

(O B. more workers being hired
(O c. greater benefits

(O . Allof these.

+/(® E. None of these.
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+/ Question 7 3 points

Ina monopsonist labor market:

0000 ®

A. the marginal resource cost of labor is above the market wage.
B. there is no derived demand for labor.

C. the marginal resource cost of labor is below the market wage
D. the marginal resource cost of labor is equal to the market wage.

E. we can't make predictions about the marginal resource cost of labor.
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+/ Question 8 3 points

The difference between a wage and a salary is:

wages are hourly pay, and salaries are weekly, monthly, or yearly pay.

wages are only the money a worker earns; salaries include non-money
benefits.

wages are eamed by blue-collar workers and salaries are earned by white
collar workers.

wages are the minimum a worker can be paid, and salaries are the
maximum.

wages and salaries are identical
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+/ Question 9 3 points

f aleap in technology greatly increased the lemon-squeezing capabilites of the lemon
candy factory machines:

/(@) A. the derived demand for lemons would increase.
(O B. the elasticity of the derived demand for lemons would decrease.
() C. the derived demand for lemons would decrease.
() . the elasticity of the derived demand for lemons would increase.

() E. the derived demand for lemons would be unchanged
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/ Question 10 3 points ~

Ina perfectly competitive market, marginal resource cost faced by any one firm:

() A isfixed, butis unrelated to the price of the factor
() B. isfixed, because the price of a factor is unchangeable.

C. increases as the level of output by the firm decreases, since the firm uses
less of the resource.

D. decreases as the level of output by the firm decreases, since the firm uses
less of the resource.

/@ E. isfixed, because any one firm is too small to influence the price of the factor.
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+/ Question 11 3 points

If the demand for lemon candy decreased:

/(8 A. the derived demand for lemons would decrease.
(O B. the derived demand for lemons would be unchanged
() C. the derived demand for lemons would increase.
(O . the elasticity of the derived demand for lemons would decrease.

() E. the elasticity of the derived demand for lemons would increase.
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+/ Question 12 3 points

‘The increase in total revenue from the addition of one more unit of input is called:

(O A marginal physical product
(O B. marginal cost.

/(@ c. marginal revenue product.
(O D. marginal revenue.

() E. marginal resource cost.
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/ Question 13 3 points

Which of the following will result in  higher interest rate on a loan?

OO0 O0OO0®

A

c.

D.

E

Alarge amount of paperwork necessary to administer the loan
Short time until the loan must be repaid

High resale marketability of the loan

Low risk that the borrower will fail to pay back the loan

Tax exemption on the interest income for the loan
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/ Question 14 3 points ~

Using the least-cost combination of factors to choose the levels of inputs for production
means:

() A. setting the marginal revenue product equal to zero for all factors.
(O B setting the marginal physical product equal to zero for al factors.

/(@ C. setting the marginal physical product per dollar the same for al factors.
(O D. setting the marginal physical product per dollar equal to zero for all factors.

() E. None of these
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+/ Question 15 3 points

Since sugar makes up a large part of the production of lemon candies, the:

OO0 O0OO0®

A. derived demand for sugaris likely to be elastic.
B. derived demand for sugar s likely to be unit elastic.
C. derived demand for lemons i likely to be elastic.

D. derived demand for lemons is likely to be unit elastic.

E. derived demand for sugar is likely to be inelastic.
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+/ Question 16 3 points

In derived factor demand, the word factor refers to:

() A capital only.

(O 8. land andlabor only
O c. laboronly.

(O D. land only.

/(@) E. land,labor, and capital.
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+/ Question 17 3 points

Raspberry candies are a substitute for lemon candies. If this year the raspberry crop
suffered from pests and the harvest was greatly reduced:

(O A the elasticity of the derived demand for lemons would decrease.
/() B. the derived demand for lemons would increase.

() C. theelasticity of the derived demand for lemons would increase.

(O . the derived demand for lemons would be unchanged.

() E. the derived demand for lemons would decrease.
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+/ Question 18 3 points

In derived factor demand, the word derived refers to the idea that factor demand is
derived from:

() A theoretical models.

(O B. the demand for the factor in other markets, such as the product market or
factor market.

() c. empirical evidence.
/@ D. the demand for the final good or service the factor is used to produce.

(O E. the demand for other factors (land, labor, or capital).
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+/ Question 19 3 points

Ina labor market, a minimurm-wage law that sets the minimum wage above the current
market wage rate

() A. isaprice floor and creates excess demand for labor.
O B. isaprice ceiling.

() C. creates an excess demand for labor.

(@ D. isapricefloor

(O E. isaprice ceiling and creates excess demand for labor.
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+/ Question 20 3 points

‘Alabor union introduced in a perfectly competitive labor market causes:

®@ O 00O

A. more workers being hired.

B. no change in earnings.

C. no change in the number of workers hired.
D. lower earnings.

E. higher earnings.




image41.png
+/ Question 21 3 points ~

Choosing the combination of inputs that maximizes profits means:

v@® A

Oec
O o

O E

setting the marginal revenue product equal to the marginal resource cost for
each factor.

setting the marginal physical product equal to zero for all factors.

setting the marginal physical product equal to the marginal resource cost for
each factor.

setting the marginal physical product equal to the marginal revenue product
for each factor.

setting the marginal revenue product equal to zero for all factors.
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+/ Question 22 3 points

Compared to a perfectly competitive market, in a monopsonistic market:

() A. more workers will be hired

/(@ B. fewerworkers will be hired.
(O . the same number of workers will be hired.
(O . the wages will be higher.

() E. None of these.
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/ Question 23 3 points

When a minimum wage law increases the pay to low-income workers, this often results
inthe loss of jobs for some low-income workers. The size of this loss depends upon
which of the following?

() A The number of substitutes for labor
(O B. The percentage of the total cost of production attributed to labor
(O €. Thelength of time a firm has to make changes in its production process

(O D. The elasticity of demand for the goods and services low- income workers.
produce

V(@ E Allofthese
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+/ Question 24 3 points

The increase in output created by the addition of one more unit of input s called:

A marginal physical product.
B. marginal cost.

marginal resource cost.

D. marginal revenue product.

E. marginal revenue.

OO0OO0O0®
o
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+/ Question 25 3 points

Economic rent is:

() A. money income earned by land owners.
+/ (® B. income eamed above a factor's opportunity cost, by any factor owner.
(O ©. money income earned by any factor owner
(O D. income earned above a parcel of land's opportunity cost, by any land owner.

(O E allincome eamed by any factor owner.
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/ Question 26 3 points

There are few good substitutes for raspberries in the production of raspberry candies;
therefore, the:

(O A derived demand for raspberries is likely to be elastic.
/(8 B. derived demand for raspberries is likely to be inelastic.

() C. derived demand for sugaris likely to be elastic

() D. derived demand for raspberries is likely to be unit elastic.

(O E. derived demand for sugar i likely to be inelastic.
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+/ Question 27 3 points ~

Interest:

®@ OO0 OO

A

c.

D.

E

is the cost of borrowing money.

is the additional payment made by borrowers to lenders to convince them to.
delay their spending

depends on the supply and demand for loanable funds.

is income for the households who loan money through financial
intermediaries to firms for capital goods.

Al of these.
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/ Question 28 3 points

To maximize profits, afirm should.

(O A set MRP= MRConly if the firm is in a perfectly competitive market.
(O B. ignore the cost of the resource and only consider the MRP.

(O C. setthe total cost of the resource equal to the total value of production.
(O D. set MRP= MRC only if the firm has significant market power.

/(8 E. set MRP= MRCregardless of its market setting.
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+/ Question 29 3 points

When a factor has no value in any alternative use:

0000 ®

A. the opportunity cost of using the factor is zero.
B. the economic rent the factor earns is zero

C. everything the factor eams is the opportunity cost.
D. the economic rent is equal to the opportunity cost

E. None of these.
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+/ Question 30 3 points

‘The demand curve for a factor is:

0000 ®

A, the factor's marginalrevenue-product curve.
B. fixed in a perfectly competitive market

C. upward sloping

D. the factor's marginal-physicakproduct curve.

E. the factor's marginal physical curve.
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